
25

29

39

26

28
8

9
17

20
33

24 2223

2

1

1

18

19

10

16

15

21

11

27

5 3
4

6

20

7

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 A5-080-034 SHORT PRESSURE FILTER HOUSING 2
2 A5-080-033 LARGE PRESSURE FILTER HOUSING 1
3 A5-080-032 EATON PIGGY BACK PUMP - RAG 1
4 A5-080-031 EATON PIGGY BACK PUMP - RCK 1
5 A5-080-030 KAWI HYDRAULIC PUMP 1
6 A5-080-029 COUNTERBALANCE 1
7 A5-080-028 EK 1048 WATER COOLER 1
8 A5-080-024 3 LEVER VALVE BANK 1
9 A5-080-023 2 LEVER VALVE BANK 1
10 A5-080-020 HYDRAULIC LEVEL SIGHT GLASS 1
11 A5-080-019 RETURN FILTER HOUSING 1
12 A5-080-018 LARGE TANK FILTER - P75-2 1/2-100 1
13 A5-080-017 MEDIUM TANK FILTER - P20-1 1/4-100 1
14 A5-080-016 SMALL TANK FILTER - P10-1-100 1

ITEM NO. PART NUMBER DESCRIPTION QTY.
29 .5 X 3.25 NC BOLT 1/2" X 3 1/4" NC BOLT 3
30 .5 NC NUT 1/2" NC NUT 3
31 .5 LOCK WASHER 1/2" LOCK WASHER 3
32 .5 FLAT WASHER 1/2" FLAT WASHER 6
33 .375 X 3 NC BOLT 3/8" X 3" NC BOLT 4
34 .375 X 1.25 NC BOLT 3/8" X 1 1/4" NC BOLT 2
35 .375 NC NUT 3/8" NC NUT 8
36 .375 LOCK WASHER 3/8" LOCK WASHER 8
37 .375 FLAT WASHER 3/8" FLAT WASHER 8
38 Regular FW 0.375 .375 FLAT WASHER 6
39 FHTS 0.25-14-AB-1.813-N 3/16" SELF TAPPING SCREW 40

ITEM NO. PART NUMBER DESCRIPTION QTY.
15 A5-080-013 HYD TANK FILLER CAP 1
16 A5-080-012 TANK ACCESS COVER PLATE 1
17 A5-080-011 HYDRAULIC VALVE LEVER 1
18 A5-075-025 STAUFF CLAMP TOP 2
19 A5-075-024 STAUFF CLAMP CENTRE 2
20 A5-075-016 HYD TANK SPACER 2
21 A5-038-A02 WATER TREE ASSEMBLY 1
22 A5-032-A01 HYD TANK WELDMENT 1
23 A5-031-A04 A5 DASH PANEL COMPLETE 1
24 A5-031-A03 HYD. STAND - DRILLED 1
25 A5-031-021 HYD STAND BULKHEAD 1
26 A5-031-003 HYD STAND SIDE PANEL 1
27 A5-031-002 HYD STAND SIDE PANEL 1
28 A5-031-001 HYD STAND FRONT PANEL 1

D

C

B

AA

B

C

D

1345678

8 7 6 5 4 3 2 1

CHECKED

ZINEX MINING CORP.
SIZE DWG.  NO.

A
NAME DATE

DRAWN

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
ZINEX MINING CORP. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT 
THE WRITTEN PERMISSION OF ZINEX MINING CORP. IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL STAND/TANK 
ASSEMBLYUnchecked

2014-11-25

2
C.S. A5-031-A09


	Sheet3
	Drawing View1
	Drawing View2


